Job Market Signalling
Michael Spence, 1973, Week 2, Lecture

This essay is about the job market, in which signalling takes place and in which the primary signalers are relatively numerous and in the market sufficiently infrequently that they are not expected to (and therefore do not) invest in acquiring signalling reputations.
In most job markets the employer is not sure of the productive capabilities of an individual at the time he hires him. Nor will this information necessarily become available to the employer immediately after hiring. The job may take time to learn. Often specific training is required. Hiring is an investment decision, almost like purchasing a lottery.

Of the plethora of observable data (race, age, sex, education) which determine the value of the lottery, the employer is buying, some are fixed (e.g. race, sex, henceforth: indices) and some are alterable (e.g. education henceforth: signal). 
After hiring an individual the employer will find out the individual’s true productive capabilities and hence signals and indices function like parameters in shifting conditional probability distributions that define an employer’s beliefs.
Applicants can’t influence their indices, but select the signals (here: education) so as to maximise the difference between offered wages and signalling costs (education is costly).

Assumption: A signal will not effectively distinguish one application from another, unless the costs of signalling are negatively correlated with productive capability. (Signalling costs: up, Productivity: low ( signalling is cheaper for high productivity workers. ‘Self-selection’ constraint)
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Example from the lecture:
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An equilibrium is defined in the context of a feedback loop, in which employer expectations lead to offered wages to various levels of education, which in turn lead to investment in education by individuals. After hiring, the discovery of the actual relationships between education and productivity in the sample leads to revised expectations or beliefs. Here the cycle starts again. An equilibrium is best thought of as a set of beliefs that are confirmed or at least not contradicted by the new data at the end of the loop just described. Such beliefs will tend to persist over time as new entrants into the market flow through.

Limitations: With no basic adjustment in the conceptual apparatus, we can think of education as a multidimensional quantity: years of education, institutions attended, grades, recommendations and so on. Similarly, it is not necessary to think in terms of two groups of people. There may be even a continuum of people: some suited to certain kinds of work, others suited to other kinds. Nor need education be strictly unproductive. However, if it is too productive related to the costs, everyone will invest heavily in education, and education will may cease to have a signalling function.

Spence also goes on to consider the role that indices (e.g. race, sex) play in the determination of equilibria.
If employers distributions are conditional on sex as well as education, then the external impacts of a man’s signalling decisions are felt only by other men. The same holds for women. If at some point in time men and women are not investing in education in the same ways, then the returns to education for men and women will be different in the next round. Since from an equilibrium point of view men and women really are independent, they might settle into different types of equilibrium.

Questions for future research:

· What is the effect of cooperative behaviour on the signalling game?

· What is the informational impact of randomness in signalling costs?

· What is the effect of signalling costs that differ systematically with indices?

· How general are the properties of the examples considered here?

· In a multiple-market setting, does the indeterminateness of the equilibrium remain?

· Do signalling equilibria exist in general?

· What kinds of discriminatory mechanisms are implicit in, or interact with, the informational structure of the market, and what policies are effective or ineffective in dealing with them?
